Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C320002 Date: 09-06 -2017
Subject Name: Advance Mathematics Group -1
Time: 10:30 AM to 12:00 PM Total Marks: 70

Instructions:
1. Attempt all questions.

2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. | Question Text and Option. Ul sl (AscAl.
For complex number z = 5 - 3i then z =
1. A. | 5+3i B. | 5-3i
C. | 3-i5 D. | 3+5i
As AvAl z=5-3icdl z =
L A | 54+3i B. | 5-3i
C. |3-i5 D. | 3+5i
For complex number z = 4+ 2i |Z|:
2 A. 2\/g B. 2\/€
C. | 24-5 D. | Guz 44l 818 uaL @
AUS AVAUL, 72 = 4+ 2i He |z|:
2. |A |25 B. |26
C. |24-5 D. | Gu2 14l 818 uul 1R
i’ =
3 A | B 1
C. | (-1) D
i° =
3. A i B. |1
C. | (-1) D. |0
If z=1+ithen ¢ = _
A |1 B. §|
4. 3 4
C §l D I
2
°l?l z=1+Ii (‘Tl 6 =
A. | n B. §l
X 3 4
C. ul D. |
2
(cos 6 +isin 0)° =
5.
A. | (cos 6 +isin 0) B. | (cos 36 +isin 30)
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C. | (cos 30 +sin 30)

(cos 30 —isin 36)

0s 0 +isin 0)’ =

(c

U. | A | (cos @ +isin @) B. | (cos 360 +isin 30)
C (cos 36 + sin 36) D. | (cos 30 —isin 30)

~16 =

6. |A |4 B. (- 4)
C. |0 D. | (+4)

~16 =

5. |A |4 B. | (-2)
C. |0 D. | (+4)
i+ic+ic+it+it=

7. |A |0 B. |1
C. |- D. |i
i+t it it 4=

9. |A |0 B. |1
C. |- D. |i
If Z=-1+3i then |Z| =

8. | A Jio B. |10
C. |-10 D. |01
ol Z=-1+3i l |Z| =

¢. | A Jio B. |10
C. |-10 D. |01
If Zl:3+2iand Z,= 4+ 2ithen z, — Z, =

9. [A Jo0 B. [1
C. |2 D. |3
o Li=3+2iyq Z,T4+2iAl z,-2,=

¢ A Jo B. |1
C. |2 D. |3
If f(x)=x>+1then f(2)=

10. [A. |6 B. |3
C. |5 D. |0
oA f(x)=x>+1clf(2)=

0. TA. 6 B. |3
C. |5 D. |0
If f(x)=sec x then f(-x)= -

11. | A, | sec x B. - sec x
C. | tan x D. | cos x
°af(x):secx<‘nf(—x)= .

1L A T sec x B. - sec x
C. | tan x D. | cos x
If f(x)=1Iog x then f[i]:

y

12.

A | f(x)- f(y) B. | f(x)+ f(y)
C 10ty D. |0
2. oA f (x) = log x cll f[iJ:

y




A | f(x)- f(y) B. | t(x)+ f(y)
C. | 1(x)f(y) D. [0
If f(x)=x>-4x+5thenf(2)=
13. |A |1 B. |2
C. |4 D. |6
B f(x)=x>—ax+5clf(2)=
3. A 1 B. [2
C. |4 D. |6
If f(x)=sin x then f(-x)= L
14 A Cos X B (— cos x)
C. | sin x D. | (-sin x)
ol f(x)=sin x Al f(=x)= o
‘1X A Cos X B (— cosS x)
C. | sin x D. | (-sin x)
xsin x IS types of function.
15. | A. | Odd B. | Even
C. | Constant D. | None of above
xsin x A Usiej (AR .
w. |A A Bl asl
C. | wan D. | Guz T4l 818 wol «1R
If f(x)=x*and g(x)=2x+1then gof (x)= _
16 ' 2X2 —1 B )(2 +1
C. x* D. None of above
ol f(x)=x> WMol g(x)=2x+1 cll gof (x)= _
s, |A | 2x2 21 B. | 241
C. | x D. | Guz T4l 818 wul «1R
If f(x)=sin x then f(%): L
17. |A. |0 B. 1
C. |(-1) D. |
2
I
oz?lf(x)zsinxrnf(?): .
9. |A. |0 B. |1
C. | (-1) D. m
2
2+ x+1
lim —————— = _
x>0 X+1
18. |A. |1 B. 0
C. |3 D. 3
2
i x2+x+1_
W. | i1 -
A |1 |B. |0
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C. |3 D. 3
2
lim (5x3—5x+5)=
19. A Ts B. |4
C. |0 D. |3
lim (5x3—5x+5)=
¢ A 5 B. |4
C. |0 D. |3
lim (1+i) =
20, |\ xJ
A. |5 B. [
C. |0 D. |1
lim (1+i) =
0. |2\ X
A |5 B. [ .*
C. |0 D. |1
sin 66
lim =
21. -0 tan 360
A |2 B. |6
C. |3 D. |1
. sin 60
lim =
-0 tan 3¢
1 A |2 B. |6
C. |3 D. |1
If y =3"then Y _
dx
22. A. | 3% 1og .3 B. 3"
C. |0 1
sl y = 3*cll d_y:
dx
2 A 3%log .3 B. 3"
C. |0 1
d 3
— (24 —
—(4x°)
23 A 12X2 B X3
C 4)(3 D' ?)X2
d 3
— (24 —
., ()
A 1247 B. |«
C 4)(3 D 3X2
If xy =3x*then Y _
24, o
A |0 B. 1
C. |2 D. |3
%ﬂ Xy = 3x2<‘n di:
RY¥. dx
A [0 B. [1
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C. |2 |D. |3
If y-= ig then v = _
X dx
A. 3 B. 3
25. - -
X X
C. 1 D. |3x?
_X3
Ry LAy, _
X dx
A. 3 B. 3
Y, e —
X X
C. 1 D. |3x?
_X3
Ifx:sineandy:cosethend—y: .
26 .
" A | cote B. |tane
C. | —coto D. | —tane
A x = sin & Wal y = cos 0 Cﬂ.gx—: .
dx
RS- A cot 6 B. |tane
C. | -coto D. | -tane
If y=log (sin x)thengx-:
27 &
" A | tane B. | coto
C. | -taneg D. | —coto
o y = log (sin x) <‘D.d—y:
dx
20 A. |tane B. | coto
C. | —taneg D. | —coto
If y=tan " x theny, =
A. 1 B. -1
28. 2 2
1+ x 1+x
C. |0 D. | Gu2 14l 818 uul 1
%l y=tan ‘x cly, =
A. 1 B. -1
RC. - .
1+ x 1+ x
C. [0 D. | Guz U4l 818 ual «13
Function x + y = sin (xy ), then v B
dx
A. ycos xy —1 B. ycos xy +1
29. 1-— xcos xy 1+ Xcos xy
C. | 1-xcos xy D. | 1+ xcos xy
ycos xy —1 ycos xy +1
QR x+y=sin(xy),3-llé v _ _
dx
¢ A ycos xy —1 B. ycos xy +1
1- xcos xy 1+ xcos xy
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C. | 1-xcos xy D. | 1+ xcos xy
ycos xy —1 ycos xy +1
f (x) = sin x then maximum value =
30. (A o B. |1
C. |-1 D. |2
f(x)=sin x HIZ HeH (BH=
30. TA JoO B. [1
C. |-1 D. |2
f(x)=cos x then minimum value
31 |A [0 B. [1
C. [1 D. | Guz U4l 88 ual =3
f(x)=cos x HI& ool (BHc
34. |A. |0 B. |1
C. |1 D. | Guz U4l 98 ual =3
Function f(x)= x° - 2x + 3 then maximum value x = _
32. |A |1 B. |0
C. |2 D. |-2
QR f(x)= x* —2x+3 HIZ HEdH BHd x - ~
3. [A 1 B. |0
C. |2 D. |-2
jesxdx =
33- A 3e3x B e3x
C. | o> D. |0
3
Ie3xdx =
33 A Sesx B e3><
C. | .o D. |0
3
jxe dx = -
34. A B.
C. D.
Ixe dx = .
3%, Al e (x-1)+c B. | e (x+1)+¢c
C. le+c GuR U8l 81& uQl «1@
J‘elog e dX _ B
35. [A. | x B. | ,2/2
C. | ,° D. |1
fe™ ax - .
3. | A | x B. x2[2
C. | ¢ D. |1
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j —dx = _
9+ 4x
A B. 1
36 tan 1(2—X}+c — tan l(z—XW+c
' 3 6 3
C. D.
6 tan ’1(2—)+c tan 71(3—XW+C
(3 L2)
1
Jg 4x° e -
+ 4x
A B. 1
3G tan 1(2—XJ+C — tan 1(2—X\+c
. 3 6 3
C. D.
6 tan 71(2—XW+C tan ’1(3—XW+C
(3) L2)
Icos xdx = _
37. | A | _cos ecx B. | —cos ecx cot x
C. |sinx D. | —cos ecx cot x
J'cos xdx = _
39. | A | _cosec’x B. | —cos ecx cot x
C. |sinx D. | —cos ecx cot x
J'3sin 3xdx = ___+¢
38 A. — COoS 3X B- CcOos 3X
C. | tan 3x D. — tan 3x
J‘Ssin 3xdx = __+cC
3¢. | A | —cos 3x B. cos 3x
C. | tan 3x D. — tan 3x
J ! dx = +c
39, |- x-1
A. | log (x-1) B. |logx
C. |logl D. | log (x+1)
j ! dx = +c
3¢, x4
A. |log (x-1) A. | logx
C. |logl C. | log (x+1)
I ! dx = _+c
7X+5
40. A bg|7x-+5| B. log x
C 7 log |7x+5| D. log |7x+5|
7
I ! dx = _+cC
77X+ 5
¥0. log |7x + 5| log x
C. 7 log |7x+5| D. log |7x+5|
7
Itan xdx = +cC
4].
A. log |sec x| B. log |cot x|
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C. sec > x D. GuR ﬂél s\ uitl 01@
Itan xdx = +C
A. log kec x| Iog|cot x|
¥1.
C. | sec”x D. 1 Guz U4l 818 ual «1@
1 ex
I —dx =
01+e
42. A | g e’ B. bgl+e
C. D. |1
log —
2
1 ex
j dx =
01+e
XQ_ A. |Og e B- |Og 1+e
2
C. D. |1
log —
J2xdx =
43. 0
A |0 B. 1
C. |2 D. |4
j2xdx =
¥3. 0
A |0 B. 1
C. |2 D. |4
Icos xdx =
44, 0
A |0 B. |-sinx+c
C. |1 D. |Sinx+c
jcm xdx =
¥Y¥. 0
A |0 B. |-sinx+c
C. |1 D. |Sinx+c
Itan xdx =
45, = -
A log 2 B. |-sinx+¢c
C. |0 D. |Sinx+c
Itan xdx =
8. A. | log 2 B. |-sinx+c
C. |0 D. |Sinx+c
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line x = 2,x =0,x =1 and X —axis, then area of bounded curve is

16 A |0 B. 5
| C. 15 D. 19
4 2
Ao x = 2,x=0,x =1 W x — A& Y AAAAARAR of A0
¥s. |A. |0 B. |5
C. 15 D. 19
4 2
Order of D.E. d zy + (di\ +y=0
47. dx (dx )
A |0 B. |1
C. |2 D. |3
Qs s [d—y] )y s ue uBaal
%9, dx Ldx )
A |0 B. |1
C. |2 D. |3
Degree of D.E. ‘ Z + xdi: 0
48. dx dx
A |0 B. 1
C. |2 D. |3
[@sct wlls2e 22 2o w2 seau
XC dx dx
A |0 B. 1
C. |2 D. |3
D.E. of givenline y = mx +¢
A | dy B. dy
= _ — = mx
49. dx dx
C. d? y D. d? y
= 0 S=m
dx dx
Qs AH1$20 y = mx + ¢ HI2
A | dy B. dy
- _ — = mx
¥C. dx dx
C. d? y D. d? y
= 0 S=m
dx dx
Solution of given D.E. x“dx + y°dy =0
50. |A. | ¥ =c B. X+y=c
C. | x-y=c D. | None of the above
(Qsct a0 x2dx + y2dy = 0 HI2 G5
uo. | A Xy =¢ B. X+y=¢c
C. |x-vy=c D. | Guz Q4 818 uul
. . d’y
Solution of given D.E. —+y=0
51. : 2 :
A. y = sin X + cos x B. y = sin x
C. | y=cosx D. | None of the above
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dzy

Qsct daHls20 Ly -0 HER B3

dx 2
ua. | A y = sin X + cos x B. y = sin x
C. | y=cosx D. | Gu: 44l 818 uul 1
I.LF. of given D.E. Y, 3y —e’”
dx
52 A er B esx
C. |3 D. 3
X
Qsct wllsel Y43y - e W2 LF
dx
1{2_ A. er Bl eSx
C. |3 D. 3
X
. dy
I.F.of given D.E. —+ Py =Q,
dx
53 A eI pax B e*_“ pdx
C. NES D. | None of the above
@sct s Yy py -0 W2 IF. =
dx
u3. | A ol B. e—."pdx
C. | Jon D. | Guz U4l 88 ual =3
If f'(x)=8x°-2x,f(2)=28 thenfind f(x)=
54. | A | 2x* - x*-20 B. | 2x*-x*-20
C. | 2x*-x*-20 D. | 2x*-x*-10
ol f(x)=8x°—2x, f(2)=8 cl find f(x)=
uy. | A | 2x‘ - x?-20 B. | 2x*-x*-20
C. | 2x*-x*-20 D. | 2x*-x*-10
I.F. of D.E. di+ ysin x = e "
dx
55 A ecos X B —sin x
C. e—cosx D. sin x
Qsct 20500 21 ysin x = e W2 LF.
dx
yy. A ecos X B —sin x
C. e—cosx D sin x
Degree of given homogeneous equation f(x,y)= X3 i y3
56. x *y
A |2 B. |3
C. |4 D. |5
F(xy)= — grlee{lalla (AR 12 sau
I{S. X3 + y3
A |2 |B. |3
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C. |4

|D. |5

Solution of given D.E. ydx + xdy =0

A. x*+yi=c

57. x“-y'=c
C. )(zy2 =C Xy =C
Qs ulsR0L yix + xdy = 0ol B3

uo. |A | xPsyi=c xP—y’i=c
C. )(zy2 =C Xy =C
Icot xdx =

58. | A. | log tan x log cos x
C. | _cosec?x log sin x
Icot xdx =

Uc. | A | log tan x log cos x
C. | _cos ec?x log sin x

. . . dy vy
Solution of given linear D.E. —+ == x
dx X
A. %2 x*
59. Xy =—+¢ y=—+c¢
3 4
R I S Guz U4l A ugl o
4
d
Aoz @set ullsel & Y- x2 ol B3
dax X
A. X3 y*
ye. Xy =—+¢C y=—+¢
3 4
C. oy X GuR U4l 88 ual R
4
Isin xdx = _

60. =

Ao n

2 2
C. | 0
jsin xdx = _

S0. |-

Al - m
2 2
C. | 0
dx
_[ = +c
3x—2

61. A. log |3x—2| 3log |3x—2|

C. |1 1
—log |3x| —log |3x—2|
3 3
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dx

.[ = +cC
3x—2
Gq. log |3x—2| 3log |3x—2|
C. |1 1
—log |3x| —log |3x - 2|
3 3
If j f(x)dx = isec 2x+c then f(x)=
2
62. A. | sec xtan x B. sec 2xtan 2x
C. | sec 2x D. | tan 2x
ofl j f(x)dx = isec 2x + ¢ ol f(x)=
2
S2. A. | sec xtan x B. | sec 2xtan 2x
C. | sec 2x D. | tan 2x
szdx = .
63. | A. 4 B. 8
3 3
C. |8 D. |2
szdx = e
S3. | A 4 B. 8
3 3
C. |8 D. |2
J'(tan x4+ cot "t x)dx =
A |0 B.
64. S
2
C. | D. 501
2
J'(tan x+cot x)dx =
A |0 B.
S¥. LN
2
C. | D. 501
2
If y=e? Al y, =
65. | A. | 8e™ B. | 8¢
C. | g2 D. | None of the above
ol y=e" Al y,=
su. | A | 8e™ B. |8e*
C.|e” D. | Guz Q4 818 uul <}
d 1
66. —(—AW: -
dx (x" )
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A. 4 B. 4
X5 X3
C. 4 D. 4
X4 X4
d 1
.;:(XA/)_
A. 4 B. 4
§6S. —y -
X X
C. 4 D. 4
X4 X4
. dy
Solution of D.E. d—+ Py =Q
X
67. | A | y(1LF)=[[Q(PF )]+ o B |y F)=-[[Q(1F )]+ c
C. |y F)=[lRUFJa]+c D. | Gu: 44l 818 uul 1
Qs uls?al jl+ py = 0 oll G5
X
SO. | A | y(1LF)=[[Q(P.F )dx]+c B | yOF)=-[[Q(1F )]+ c
C.o | yF)=[lROFJa]+c D. | Gu: 14l 818 uul 1R
If\/;+\/_=\/§thenj—y=
X
A. Ny B. ;
68. \E "
C. " D. ;
Sl -
R Vx+fy =42 A ji
X
A. . B. ;
S¢. S n
C. " D. ;
Sl -
If f(x)=x*-4x+3then minimum value of f(x)=
69. [A. [-1 B. [0
C. |2 D. |[-2
Al f(x)=x*—4x+3 (‘nc?ic‘ldl-lof f(x)=
sc. A [ B. |0
C. |2 D. |[-2
If f(x)= (2] then 1')-
70. \x)
A |1 B. [-1
C. |-2 D. |0
Rr=(2] QA 1a)-
90. \x)
A |1 B. [-1
C. |-2 D. |0
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